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1. 2308k
[1]Online Verilog Simulator: edaplayground #(E2:
https://www.youtube.com/watch?v=f9uwtAax4v0&t=249s

[21& PRSI ZETEE T-&: hitp://ccckmit.wikidot.com/ve:main

[3] https://www.chipverify.com/verilog/verilog-operators
[4]1#RHAE > verilog & 5 5ET - 5 05579037

2. XSS
® AHEAI2]

module <name> // 1HEAZHE

parameter ... // 2885
port ... // BIUEE

wire ... // BESF

reg ... // EFRES

initial begin // FGEREER

end
assign ... // BERREER /ML
// SIEBEFEIEHRIE
always begin // TREHZEHESR
// EnERBEIEESER
// taskBEfunctionBER

end

function // REES
task // FEES

endmodule


https://www.youtube.com/watch?v=f9uwtAax4v0&t=249s
http://ccckmit.wikidot.com/ve:main
http://ccckmit.wikidot.com/ve:main
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aLfEETBH (4]
BATREfE: /]
LATRE R [* */
(4]
® < EJE >< = (h,d, o, b)>< #{H >
l40:  8hec=8 firJT 16 {7 ec = ecis = 14*16+12=23610=1110,1100,
16’d2048 = 16 firJT 10 #E(ir 2048 = 20481 = 0000,1000,0000,0000;
12'02347 = 12 fir7C 8 #EAT 2347= 2347
= 2x83 + 3x82 + 4x8! + 7x8° = 125510= 0100,1110,0111,
4'b0101 = 4 firT 2 *##fir 0101 = 0101,
-8'd79 = 8 firyT 10 #Efir -79 =-7910=-100,1111, = 1011, 0001,
z: =fEPL
x: RHEE
Fl40:  4’b0x10 = xx10>
8’h3z =8 firyr 16 #Efr 3z=0011, zzzz»
12’02732 =12 {i7.7C 8 AT 2732 = 27328 = 7222+ 7x8%+ 3x8 + 2
=72247410=1222 1,1101,1010,
® EMEEREHUHE > A1N:
788 = N%E 32 fir T 10 #Efir 788
‘1101 = NE 32 firJT 2 #EAr 1101 = 1101,
‘037 = NE 32 fiJT 8 #EfiL 37 =375=3*8+7=3110=1111,1111,

‘hef = NTE 32 firJT 18 AT ef = efig=



\n Tt (new line)

\t FIU (tab)

j\ FILO)

\* FIT(* )
\ooo  (FH -3/ \SEIECF A E #2F T

(0S0s7)
%% FIL(%)
\" FIL()

a1 7 (4]
fH40:  output [7:0] Qout; //Qout E—{lEzkHF
wire w;  //w (]

reg  busl; // busl J&—{Ez% A

RN 1bit AR A 0, 1, x(unkown value), z(&=[HFT) -
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Table: VWerilog Reserved Keywords

always and F==ign automatic
begin buf basfifih bufifi
case CESEN casez o=
cmos config* deassign default
defparam design® disable =dge
glzs end endcase endoonfig®
endfunction endgenerate endrmodule endprimitive
endspecify endtable endtashk event
for force forever fork
function generale genvar highz
highz1 if ifmone imedir*
include* imitial imout imput
instance® integer join larger
liplist* library* localparam macromodule
medium module nand negedgs
Nrmos nioe noshow-cancelled® | not
niotif miodif1 or ouiput
parameter prmos posedge primitive
pulld pull1 pullup* pulldowrm™
pulsestyle_ondetect® pulsestyle_onewvent® rcmos rzal
resltinme reg releass repeat
mmos rpMmos riran riramifl
rtranif1 scalared show-cancelled® signead
small specify specpa sirong®
stromg 1 supplyd supply1 izblz
task time tran tranifl
tramif1 tri trd tri1
triand trior trireg use”
vectored wait wand waskl
weakt while wire waor
xnar waor

4

AR HH (4):

Sdisplay, Sdisplayb, Sdisplayh, Sdisplayo, Swrite,  Swriteb,

Swriteh, Swriteo



it g
$display + 3t
$displayb it
$displayh A
$displayo S\t

$write itk

$writeb itk

$writeh /Ot
$writeo JUEEH

Sdisplay(“Hello Prof. Lin™) : //8871% Hello Prof. Lin
$display(Stime) 3 /87 E iR R
dat1=4'b0101 3

Sdisplay(“The data is %b”, datl) : /56575 The data is 0101

Swrite(4'b1111) 3

Swrite(* ™, 5°b10101) 3
Swrite(* ",5°b01111, *\n™) &

HIgET : 15 21

OF

Yd WY %D
%b ¢ %B
Yoh K %H
Ye M %C
Yo ¢ %O
Yom 1§ %M
Yos 9 %S
Yot B %T
Yhe 1Y %K
%l 1 %l
Yo W %G
Yv 1Y %V

-3l 1
g ]

SR

EH

f e
ASCIL 11,

EL A s X
FHES A Z T

300 I 2z T

F3RT / e oz W
AN

(P (AN )




o fREE(4]

$monitor ~ $Smonitoron & $monitoroff

module monitest ;
integer s, t
initial begin
s=4;
t=6;
forever begin
#HSs=1+s;
#51=s~1;
end
end
initial # 40 $finish;
initial begin
Smonitor (Stime, *s = %d ,t=%d,” s, t);
end

endmodule

LUTfaRE

0 =4, t=6

S= 10, t= 6
10 S= 10, t= 9
15 S= 19, t= 9
20 S= 19, t= 18
25 S= 37, t= 18
30 S= 37, t= 36
35 S= 73, t= 36

® [OjELiH[4]:  Sstrobe



forever @(posedge clk)

o(*Time = %d. data = %h”. Stime, data);
FE—{EREIRERSE ok TF4( By 0->5V Ay LT84 ) > Sstrobe A%
B AENH (log FEZRELE) -

® L4 Sstop, Sfinish

initial
begin
clock=1"b0 :

reset = 1'b0;

#300 Sstop ;
#600 S$finish ;
end

#H 1. ££%% << and E# >>
module des;
reg[7:0] data;

integer i=0;

initial begin
data = 8'h1;
Sdisplay ("orginal data = 'b%8b", data);
for(i=0; i<10; i=i+1) begin
// Sdisplay ("current loop#%0d, data << i = 'b%0b", i, data<<i);
Sdisplay ("data << %0d = 'b%8b", i, data<<i);
end

data = 8'h80;
Sdisplay ("orginal data = 'b%8b", data);
for(i=0; i<9; i=i+1) begin

Sdisplay ("data << %0d = 'b%8b", i, data>>i);
end



data =8'h1;
Sdisplay ("orginal data = 'b%8b", data);
Sdisplay ("data >> 1 = 'b%8b", data>>1);

end

endmodule

#p 2[4].
module equ_inequ();
reg[3:0] a,b,c,d,e,f;
initial begin
a=3; b=6;
c=4'b011;
d=4'bx11;
e =4'bx110;
f = 4'bxx10;

Sdisplay(a == b); //logical equality ==>0

Sdisplay(c != d); //logical inequality ==> x

Sdisplay(c !=f); //logical equality ==>1

Sdisplay(d === f); //conditional equality ==> 0

Sdisplay(c !==d); //conditional inequality ==> 1
end

endmodule

#p1 3.
module test();
reg[3:0] data;
initial begin
data = 4'bxxxx;
Sdisplay("4'bxxxx == 2'bxx ? =>", data == 2'bxx); // ==> x
Sdisplay("4'bxxxx === 2'bxx ? =>", data === 2'bxx); // ==>0
end

endmodule



3. B¢ 2-1: BT ~ B M PITERNER
(1) B—EEERE - FiTr B A~ BEERAER SRS
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